(" ESA S12508F-AF FIEMDC FZIARPEFEIMAC

ARP RS 2020-04-13 K&

LELEYSEL

WA ES12508F-AFiRE, hMiAR1150, fiftfEE, 7 MDC:
mdc MDCD id 5
location chassis 1 slot 4

location chassis 2 slot 4
mdc start
allocate interface Ten-GigabitEthernet1/4/0/25 to Ten-GigabitEthernet1/4/0/48
allocate interface Ten-GigabitEthernet2/4/0/25 to Ten-GigabitEthernet2/4/0/48
PUZHISOLT 4A9RT24I7EMDC 482,  soltd4fyj524O7EMDC 588,
AR
PHEFP—ERMIZEMDC 5dis mac EAREUHAMImMac, EEMIENIER, EZEIZEMD
C 512l EREEEarp,
AILAEEESarp:
Type: S-Static D-Dynamic O-Openflow R-Rule M-Multiport I-Invalid
IP address  MAC address VID Interface/Link ID Aging Type

|

9.31.132.45  ¢80c-c8f0-1fd1 21 BAGG11 12 D
19.0.17.5  f875-8881-bceb 22 BAGG12 15 D
{BEAEMac:

[NJ-JP-GX-VD-15.MAN.S12508]dis mac-address

MAC Address  VLAN ID State Port/NickName Aging

T2

|
0

(1) 1EIg% _E=iRE T mac-address mac-learning ingressic2&AZImac,

(2) mRRWEREmackITHEERT, STLABZRIMDC 5FrfEhRYslot 4 chip 1_Emacit#£/90:
[NJ-JP-GX-VD-15.MAN.S12508-probe]bcm chassis 1 slot 4 chip 1 12/show/count

--- 0 mac address(es) found ---

[NJ-JP-GX-VD-15.MAN.S12508-probe]bcm chassis 2 slot 4 chip 1 12/show/count

--- 1439 mac address(es) found ---

(3) EEZEBR Efparity-errorfSE.:
[NJ-JP-GX-VD-15.MAN.S12508-probe]dis parity-errorc 1 s 4
Nov 18 2018 17:10:59:685830:unit 1:name=IHP_ParityErrint, id=428, index=0, block=0, unit=1, recur
ring_action=0 | EM SER: nof_occurences=0001, cnt_overflowf=0x0, memory address=0x0050f648 m
emory=IHP_MACT_KEYT_H_1, array element=1, index=30280 | IHP EM

(4) 1RIE (3) 1 (4) WSEAILAEH, MDC SETfERIEtRBparity-error, S&ichip 18KEmack
MFIFE.
fERTE

(1) parity-error J LABIT S ERARARIR ;

(2) ATIEEREXparity-errorfIESRES], EINFHREIR27xxAINRA,

LEFSSEN

$12500X-AFRERIFXRIREBZARADIG F, ZHR=BAFEIMAC, WIREBEZFIMACEEEMAC
EEMAAAFS, ©%<51T: mac-address mac-learning ingress, EIEIBEIS S AEImachy & oAt
. EEiZSEREDIRE, TEkEBE RN RERRIITR,


https://zhiliao.h3c.com/questions/catesDis/104
https://zhiliao.h3c.com/User/other/55754
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